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Attempt all questions.

All of their parts together.

(a) Define the following terms (any five): NE=X)

(i) GPS
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(1) TKDL
(ii1) Participatory forest management
(iv) Herbarium
(v) Paleoethnobotany
(vi) Biopiracy
(b) Write suitable answers of the following : (1x5=5

(i) A plant used to cure cancer

(i) A plant which is used in Alzheimer’s disease
(iii) Father of Indian Ethnobotany
(iv) A plant which is associated with Lord Vishnu

(v) A plant which is used as insect-repellent

2. Write botanical name, family, part used a

ethnobotanical uses of any four : (2x4=

(1) Neem

(i) Tiger-claw
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(iii) Snake-root
(iv) Ashwagandha

(v) True Indigo

(a) Write short note on any two : (2.5%2=5)
(1) Major ethnic groups in India
(i) Gloriosa superba

(i) Knowledge of ancient literature in ethnobotany

(b) How endangered taxa can be conserved through forestry

management practices. (2)

(2) Knowledge is wealth, it expands when we share. Explain
it in terms of Ethnobotany. 4)

(b) Explain the role of ethnic groups in conservation of the
plant genetlc resource. (3)

a) Discuss the vanous protection methods of traditional
knowledge in India. 4)

P.T.O,
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istructions for Candidates

Write your Roll No. on the top immediately on receipt of
this question paper.

Answer Five questions only, including Question No. 1 which
Is compulsory.

(a) Define the following terms :
(1) Anemia
(i) Metastasis
(iii) Hematocrit
(iv) Serum
(v) Electrocardiography

)
P.T.0.
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W Expand the following :
(i) DOTS
(i) WHO
(iil) MRI
(iv) TB
(v) ESR

(c) Differentiate between the following:
(i) Type I and Type II Diabetes
(ii) Benign tumor and Malignant tumor
(iii) Bleeding time and Clotting time
(iv) DLC and TLC

(v) Erythrocytes and Thrombocytes

(d) Fill in the blanks in the following Table :

IR

S R

o 2

(U%)

(2%5:

1.

Parameter Unit of Normal value
measurement human mal

P
.

Blood Volume

2. | Blood Sugar level
(fasting)

3. | Number of
leucocytes

4 | Systolic blood
pressure

5 Number of Platelets

th
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(¢) Name the instrument used to measure/estimate the
following :

(i) BP

(i) Haemoglobin (2)

Y

2. (a) Describe the pathogenicity of Hepatitis and suggest the
methods to control the disease. (8)

(b) Write a detailed note on principle of Chromatography.
List the various types. 4)

(a) Name the pathogen which causes malaria and the vector

responsible for transmitting it. State the symptoms of

malaria and discuss the ways for its prevention and
control.

(8)
Lambert’s Law and its applications.
(4)
(a) Distinguish between Gram - positive and Gram - negative

bacteria. Describe the method used to distinguish

between these two types of bacteria. Give three
€xamples of diseases caused by bacteria.

(b) State the Beer —

(9)

(b) List the variousg types of cancer. (3)
(a) Describe the causes and symptoms of various types of
Hepatitis infection, (9)

P.T.O.
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(b) What are the advantages of MRI over CT scap, (q}-:

dl

6. (a) Perform the t-test to compare the marks Obtaine(l h

100 students in section A and B (out of 100 marks) a.ir

per data given below :

" Range of marks obtained Number of students Number m\

i (Out of 100) (Sectlign A) jSectllzn B
0-20

20-40 14 D

40-60 30 . W

60-80 36 , 40

80-100 10 0N =

—

Refer to Table 1. (

(b) Perform an appropriate statistical test to analyse {
data given below :

| Category Observed frequency Expected frequency
A ‘ 35 30
B 50 45

| C 30 15

| D 10 15

L k 1 25 45

Refer to Table 2

Write short notes on any three of the following :
(1) X-ray

(i) Hypertension

(ifi) Clinical significance of WBC count

(iv) Diabetes mellitus

—
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Attempt five questions in all, including
Question No. 1 which is compulsory.
All questions carry equal mar_ks.

1. (a) Define (any five):
(i) Barrbody
() Pseudodominance
(i) Missense mutation
(iv) Proteomics
(v) Dicentric chromosome
(vi) Conditional lethal mutation, 1x5=5
(b) Give one contribution of (any five):
(i) Barbara McClintock
() W. Sutton and T. Boveri

Turn over



6. (a) What are
and non
(b) Explain the Celera

methodology used in the

7. (8)

®) Explain why the rec
(c) Give the number 0

chmmosomal c
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physical mutagens?

-Jonizing radiations in

Whatis Pedigree Analysis?

recessive inheritance wi
ombination

onsti

Discuss the role of ioniziy
g

inducing mutation. :

genomics project and the sequencip,
1

project.

Explainthe inheritance of X-linke,

th the help of a suitable example,

frequency never exceeds 50%, ¢

f barr bodies present in an individual wig,

tution KXXKYY and XXYY. )

Cl
Ac

L, O
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 Answer st quéstions in u*)l, ;hreqamﬁonsv fmn each Section

Use of sct‘entg‘ﬁc calculator is allowd
Use: separaté. answer sheets for Sectwn A anl Section B.
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—

ety SECTION A
Attempt three q’uestwns in all
ﬁbuestton No 1 is compulsory

All questtons carry equal marks

o o

(a) Explain why a eutectnc mnxture ha* a deflmte ]
L composition and sharp meltmg pomt yd it is not a
compound : |

 Turmn over
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(b) What &€ the electrochemical reactions that take place
at calomel] electrode?

(c) The ioniC mojgg conductivity of hydrogen ion is much
greater’ than any other ion. Give reason.

(d) How will Yyou explain the presence of both lower and
| “PP°" CST for certain systems? |

(e) Give and J“Stlfy the number of components in 1 the
system: | - . o
~ CaCO (s)=CaO(s)+CO ( ) -
(f) Usually a saturated solution of KCl or NH NO is used}'
in the salt bndge Explain. - | '

(8) Explain w“xy enthalpy and volume of mxxmg for the

formation of 1deal bmary solutlon 1s zero

(h) State: and explam Kohlrausch’s law of mdependent )
mlgratlon of i fons. ¢ E 2sz5—12Vz .

(a) What is meant by the process-solvent extractlon? Explam '
why the process of extractlon is more efﬁcxent if the solvent

is used in a nmnber of small portlons rather than in one '_
wholelot, -

| (b) Why do bmary solutlons deviate from ; 1deahty? The vapour

Pressure of pdre benzene and toluene at 40°C are 184 0 |

torrand 59, Oltm respectlvely Calculate the parual

Pressures. |
of beﬂzene and toluene,

the total vapour pnessure of the_'

2
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ve th so;ation that has 0.40 mol fraction of benzene T

Mpnd the mole fraction of benzene in the vapoy, -

ab
AssuMEfhat the solution is ideal.

and incongruent :
(©) p,ﬂﬂﬂ\\pﬂg between congmcnt grue me]tlng |

(@) Define gpecific conductance, molar conductance ‘and
equivalint conductance, What are their SL units?

(b) The mdar conductances of sodrum acetate hydrochlom

acid and sodium chloride at mﬁmte dllutton are 91.0x 10+,

426. 121 10~ and 126. 45 X 10" S m? mol‘ respecttvely at
25°C. éalculate the molar conductance at mﬁmte dllutmn
for aceic acid.Is transport number of 1ons related to molar |
conducnvrty at mﬁmte dllllthl‘l? Gwe reason for your answer

(c) Draw md explam the conductometnc ntratlon of a weak
acid \\ith a strong base H V. -:' . ,:f o '» _' | 4Vz,44

.f

4. (a) anferennate between concentratlon cell W1th and w1thout
transference. e T b i
(b) The emf of the cellm 0 s (L _
ad, CdCl 2:5SH,0 (saturated) ll AgCl(s), Ag
in wh;ch the cell reactlon | S T
Cd(s) + 2AgCl(s)+aq = CdCl 2 SH,O (sat) + 2Ag(S)
i50.6753 volt at 25°C and 0. 6915 volt at 0°C Calculate the

i

free. nergy change (AG), enthalpy change (AH) and F

. enty f y change (&5) of the cell reactton at 25°C.

- 5065
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(c) How is the pH ofa solution determineq using (i) hydrogen
electrode and (i) quinhydrone eleqtroge 4av,4
5. Write short notes on: |

(a) Moving Boundary N ethod
(b) Phase Diagram of S » pht'n- ,
(¢) Lever Rule or Glass %lécu-pde, a4
SBCI‘ION B y | I ¢ |
Attempt three quesions 15 o

Allwwnomwnymlm,h _

I

(@) Complete the following reactions:

O CHCHO+(CH,CO0—tmy gy
i ,@)BrcrgeéH,‘f-‘CI{sCOCH,W.c N
T T S TR S et 24433

TR
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. (a) Write short notes o the

,.';.50'65 iy LT

following (any (wo)
(1) Gabrie: ‘s Phthalimide Synthesig

() Hofmann Bromamide Reaction
(111) Schotten-Baumann Reaction,

: .1ine and
(b) How will you chemically differentiate between aniline a7
N-methy! aniline?

(¢) Complete the reactions:
- () ArNH, + CHCL, + 3KOH — 4
@) ArNH, +Br,—% , p |
@) AIN;CT +H,0/H' —& ¢
(d) Give a detailed account of Hofmmm climination and
compare it with Saytzeﬁ‘ elmunatlon . 5,2,2 3%

. (a) How wﬂl you convert D-arabmose to D-glucose and D-

| mannose by leham-Flscher synthesxs?

_(b) How w111 you convert D-glucose to D-fructose?

(c) Draw the Haworth proj ectlon fot u—D-glucopyranose and
B— fmctofmanose o |

(d) Write short notes on the following;
(i) Mutarotation |

(i) Ruffs Dggfadation. ‘ 24325

. (a) Give the name and mechanism of the reaction ; involved in

the synthesxs of ethyl acetoacetate from ethyl acetate,
(b) What is tautomerism? Give the structiires Ofketo and eno]

form of ethyl acetoacetate.
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